= o
A & 0 & 2 & Al
T S04 LBHSIH TR
i < ot
Buw o ezl
3 A2l (Sl & &)
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
1,850,234 1,550,605 299,629
34,000
28,000
1,788,234
L=t P 1,624,634 1,515,005 109,629
34,000
28,000
1,562,634
3 A2el 37,335 39,355 A 2,020
o I Aikztg] 37,335 39,355 A 2,020
201 Let24E] 36,235 34,095 2,140
01 At 22l 36,235 34,095 2,140
OZ8AN & BREHF M 90,000& 1008 9,000
ONY - Ni&Z4tet ALSTEEEN M
35,000& 702 2,450
OSANMRES dOMEZEH EUY
190,000& =154 2,850
O2NH3EXN 2= 21,000& x12& 252
OZuAARE 80,0003 x3H 20 4,800
OXE3d G2B 018 20,000& x102H «12& 2,400
OASHZIHEHAL) HESFE
5,000,000& »1H 5,000
=3 FEE ct¥E M 1,250 = 1,5004 1,875
OFRFIDEIHDI RAIE= 250,000& = 12& 3,000
OAALUE FEIMAIAE RAE=>
384,000& »12& 4,608
202 O4dl 100 100 0
01 = LH o4 Hi 100 100 0
OXNLMHEAY SS&Y 0l
20,0003 »1H +5 100
203 YR =&l 1,000 1,000 0
03 Al F=XH R =AY 1,000 1,000 0
OZ2d gRFd 1,000, 000& 1,000
M A 2tel 851,445 773,104 78,341
34,000
28,000
789,445
SHEMA MEHEAL & 22 30,800 30,800 0
201 Let24E] 30,800 30,800 0
01 At 22l 28,300 28,300 0
O3=e 2el2d 28,300
Egrr2 20,000, 000& 20,000
2EEIexE 7,000,000& 7,000
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H . ool () - NIRAY - B il
2HE oIgs+=8 700,000& 700
E=E 2 DA HE 600,000 600
02 3323l 2,500 2,500
oR#Eg S 2,500,000& 2,500
TEEE BHNSE 88,000 88,000
201 L2l 88,000 88,000
02 2322l 88,000 88,000
OdAdASAIE=E Moll=-+ ZRHaldl 35,000,000 35,000
O2Hih& THIHI (SZSHA)
53,000,000& 53,000
SENE 29 635,185 654,304
201 L2l 324,932 351,104
01 At 22l 3,100 3,100
ORzkz sdz 50,0003 x2CH 123 1,200
OSSXEM2 2 II=+3 250,000& *23 500
O2dlE olgx+2 100, 000& *9CH 900
ON® AZA R NE(SYE S)
50,000& x102] 500
02 3323l 321,832 348,004
OXtS XA 4,210
HEsEX 550, 000& *2CH 1,100
HEsEX 500,000 *2CH 1,000
- AESEX 95,0003 *30H 285
ZESEX 80,000& = 10CH 800
-HEsEx 115,000 = 1CH 115
S AESEX 65,0003 =4 H 260
- AYEISEX 28,5002 »20CH 570
-2 ESESX 79,5003 «1CH 80
ONsSiE = 25,888
HEsEX 317,000& »2CH 634
O=sdssEX 279,000& »2H 558
- AESEX 250, 0003 *3CH 750
- ZESEX 224, 7102 = 100H 2,248
HEsext 748,000& «1CH 748
- SESEX 386,000& = 1CH 386
CAESEX 301,000 »3CH 903
g st=2 Xt 601,000& *2CH 1,202
- SgaEx 410,000 »2CH 820
=R =P 370,000& »20CH 7,400
HAX 620,0002 = 14CH 8,680
-2 SESX 643,000& «1CH 643
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2EAM: R
M MEEH L THat2el
©e B MA 2te (9 ® =)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
==\ N} 458,000 »2H 916
OXgesZe 232 3,000,000& *23| 6,000
Oxt& =2l 75,643
FSE=DN; 1,772,000 »2CH 3,544
HESEX 1,000, 000& »2CH 2,000
- AESEX 250,000& *30H 750
ZESEX 1,000,000& = 10CH 10,000
-HEsEx 2,160,000% *1CH 2,160
- SEsEX 952,000 = 1CH 952
L2ESEX 1,000,000 *3CH 3,000
g st=2 Xt 2,500,000 »2CH 5,000
S 1,939, 0002 »2CH 3,878
Lot = Xt 1,100, 000& =20CH 22,000
HAX 2,051,000 *9CH+250, 000& *5CH 19,709
-2 SESX 250,000& »1CH 250
&2 2 TH X 1,200, 000& »2CH 2,400
Oxgrs #+4 210,091
- M EX 1,416 34,5504 *2CH*90% 11,598
- HEsEX 1,212&%1,320¢ *2CH x90% 2,880
- AESEX 1,416@ +1,3204 *1CH*90% 1,683
- JESEX 1,416& x1,320¢ *9CH x90% 15,140
-HEsEX 1,212 *4,2104 *1CH *90% 4,593
SEsEX 1,212 %2,6404 *1CH*90% 2,880
AESEI 1,212 x1,8004 *3CH*90% 5,891
g st=2 Xt 1,212 *4,4604 *2CH*90% 9,730
sdat=xt 1,212& x3,2250 *2CH *90% 7,036
283 =S Xt 1,212& %1,8004 *20CH x90% 39,269
A 1,212 x6,4408 *14CH *90% 98,347
-2 ESESX 1,212 *2,9604 *1CH*90% 3,229
AHE 2T Xt 1,212&%2,9604 *2CH *90% 6,458
NI Xt 4333 <123 «874 304 1,357
405 XHobF S HI 310,253 303,200 7,053
01 XL 2 S FH S| 310,253 303,200 7,053
OXt& A 310,253
L8 = 20,000, 000& = 1CH 20,000
Ef=Ra=1 82,753,000 = 1CH 82,753
-HEsE 40,500,000& = 1CH 40,500
HAXt 107,000, 0002 = 1CH 107,000
A2 DANAT 60,000,000 = 1CH 60,000
MRS 70 97,460 0 97,460
= 34,000
Al HI 28,000
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2A-: M2
M THE Y& L A2
©e B MA 2te (9 ® =)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
- Hl 35,460
405 XHAHE SH 97,460 0 97,460
= 34,000
Al Hl 28,000
Tl 35,460
01 JtAY = ZF SHI 97,460 0 97,460
OAr8gsEX(HIIX) 48,730,000 =204 97,460
2 34,000
Al Bl 28,000
s| 35,460
= Ab2tel 484,553 483,509 1,044
HAMAIE AbI 84,000 107,200 N 23,200
401 Al HI L £ 0HHI 84,000 107,200 N 23,200
01 A& HI 84,000 107,200 N 23,200
OFA A2 LEDE K& 29 & Xl 30,000,000 30,000
OM1g2 Xlaot SHIJIAIE & X 20,000,000 20,000
OEZ H2Y FHIE 245
20,000,000& 20,000
OQ3ls Y e H 7,000,000 7,000
o2 -8g2 27| N2F bl 7,000,000 7,000
HASX - 2% 400,553 376,309 24,244
101 @121l 137,585 120,578 17,007
04 JI2ZtH2E2XNEE S 137,585 120,578 17,007
OFAIE A 2te| 137,585
Ol 24 H| 65,6703 *6H x250 98,505
Z= Xt 65,670 x6H x52 20,490
- AXH 65,6702 x6H x12 4,729
o= 140,000& *6H x 13| 840
g 40,0003 *6Y *x23] 480
- RUAZREEZ 123,724 ,000& *4 . 5% 5,568
-EgEed"a 123,724,000 *1.5% 1,856
SAHEEREE 2 123,724 ,000& *0.9% 1,114
- DZUHUEEESEZ2 123,724,000 *3.035% 3,756
COEIRUAEE REYZ
3,756,000 *6.55% 247
201 2yt 2 Y| 236,308 230,453 5,855
01 AFR2t2l bl 81,256 89,316 A 8,060
OFAES 720,000 x12& 8,640
Ogtatal 22| 25,316
st & X 720,000& x12& 8,640
S HeH 8,400& x36H x12& 3,629
HIIME 8,400& x58l x12& 5,847
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SN WD
Hu: WIIY L Wz
2t

=i M=

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
=5 X 30,000& *20Ef A x 128 7,200
OJIHa s 22| 720
M S 30,000& *200 A+ 12& 720
S&F=IE CCTV X 250,000& «12& 3,000
OJIAHA Y22 02 140,000& *x2H 280
OJIHa E28HA =4 7,000 *x2H x120 1,680
OFAN BEF=IE =XNE M
30& *50001 x20L x12& 3,600
OUSE AR (SN Ux L el
1,760,000& x12& 21,120
OEYAERE X 15,400,000 15,400
OFAMNESH 49 300, 000& *53] 1,500
S=229H| 155,052
Oo=2d3 &34 3,600& *250= 23| 1,800
OFAH SXNE &X 3,000,000 3,000
O3zt& A did AX 7,000,000& 7,000
OAagdy B4 1,000, 000& *23] 2,000
OH2 RN B 36,893
=2 3,839 x4 215m 16,182
M1 2 3,362& *3,686m 12,393
Al 1,017& 1,427 m 1,452
Ha2g 2 2,953 & x622m 1,837
9| 3 2,470& x1,277m 3,155
MNESIGF=IE 3,839& *488m° 1,874
O2& - g2 S04 HUE)| RIE>
5,000,000& 5,000
OdsE geldis 29 3,000,000 3,000
OAHE AR A HIEEA 6,000,000 6,000
OZAIINA ALS 52,900
AP HLbg S ADEA 370,000 130 48,100
SLHAE 400,000 x12& 4,800
OFAN DNERLEE= 2,645,000 2,645
Q& -dlx==2 18,520
A A 1,460,000& ~12& 17,520
MESIGF=IE 1,000, 000& 1,000
ONHEHBIAFIE H3lx A 190,000& 190
ORoAHIE9L4L2 10,320
MESHF=IE 200,000& ~12& 2,400
ol 3 250,000 x12& 3,000
- Mg 2t 300,000& 128 3,600
- S XA 110,000& ~12& 1,320
O£ otdHeIE(2s, A)
105,000& *20| x12& 2,520
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25 M
3 THEZS L Watze
ool WHSUY 29 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- |SON 1,400,000& ~12& 16,800
- O U A S 5,400,000& ~12& 64,800
OlssSt 22 5,436
-EUHE 22 80,000 *3CH x12& 2,880
-EUE 22 60,000& *30H 12& 2,160
-RA8EE 22 16,5003 *2CH = 12& 396
HE2IFHRB 11,982
- N3 = 23,500& *353| dx12& 9,870
- CCTVE = 88,0003 x23| & x12& 2,112
SXHHI A X (SMS) 22 1,100,000& *12& 13,200
HUHTV=AIE 250,000& 128 3,000
SBA¥BINEEZ 29 14,872,000 23| 29,744
OS8AANE S -2 29,768
HESANY SESA2ALE
131,558, 000& *6% 7,894
OlEfull M3 AIAE 196,973,900 *6%*50% 5,910
[PE 3D 218, 000& *260CH *6% 3,401
- M| 40,000& *50CH *6% 120
- BAFE SO 300, 000& *5CH *6% 90
- 5394 gAY 25,550, 000& *6% 1,533
AP Y AMEA SEEAH] 27,597,200 *6% 1,656
- g o sl gs A 65,131,640& *6% 3,908
- OFR 2 S A 5,670,000 *6% 341
- ES2E5 8,900, 000& *6% 534
- SMSA H 6,790,000& *6% 408
AEE A AEH] 32,872,000& *6% 1,973
-FAUSMEEZ X222 2,000,000 2,000
SEA Y 2L 30,400 0 30,400
405 XHaHF SHI 30,400 0 30,400
01 JHMY = ZF SHI 30,400 0 30,400
O AMESEEZ AL &Yl WA 26,400
HES®3a 40| 26,400, 000& 26,400
O OlAHAIE 0lsA 25 EH A 4,000
- 0ls4A YUSEY| 4,000,000& 4,000
HHSAAY (M) 25,600 35,600 A 10,000
Jl=3& bl 25,600 35,600 A 10,000
Jl2AH| 25,600 35,600 A 10,000
201 Bt A H| 17,400 17,400 0
01 A2 221 H| 17,400 17,400 0
ORNM2d+2H| 9,000,000& 9,000
OJlegesa 2| 8,400,000 8,400
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2M: R

H: HHE2IZH (W)

& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET

203 YR =&l 4,200 4,200 0

04 FN2ELRZ=TH 4,200 4,200 0
ORN2IYSF=AHI 4,200,000& 4,200

405 RHoHE S HI 4,000 0 4,000

01 AL EFFHSHI 4,000 0 4,000
odtard] 2 1,000,000 1,000
O=Al LA 3,000,000& 3,000

HeEs (M) 200,000 0 200,000

HEAHHK = 200,000 0 200,000

EMNAEIISEES 200,000 0 200,000

702 J13HES 200,000 0 200,000

M II2dE3 200,000 0 200,000
OFEANAEIS dE2 200,000, 000& 200,000
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